

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM513 2-Pack		
CPL 1	1	CE8CP17	17" Mesh Jumper	\$ 120.00	\$120.00
2	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
3	1	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$33.00
4	1	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$33.00
5	1	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$33.00
6	1	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$33.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
7	3	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$150.00
8	3	CHC15R	STDStandard Paint FinishesSkipped OptionSkipped Option15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$150.00
9	1	CHC22L	STD Standard Paint Finishes Skipped Option Skipped Option 22" Left Cantilever, Mounting Bracket Included	\$ 77.00	\$77.00
-				• • • •	• • •
10	1	CHC22R	STD Standard Paint Finishes Skipped Option Skipped Option 22" Right Cantilever, Mounting Bracket Included	\$ 77.00	\$77.00
			STD Standard Paint Finishes Skipped Option Skipped Option Corner Bracket, Left and Right, Sold as a Pair		
11	1	CHCB2	Comer Dracket, Leit and Right, Sold as a Pair	\$ 22.00	\$22.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
12	2	CHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$42.00
10			Skipped Option 28"h x 23"d, Metal End Gable, Left, Does NOT Support Two	¢ 205 00	¢205.00
13	1	CHMEG24L	Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 285.00	\$285.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
14	1	CHMEG24R	28"h x 23"d, Metal End Gable, Right, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 285.00	\$285.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
15	1	СНР54-3	54"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 126.00	\$126.00
			STD Standard Paint Finishes Skipped Option		
			Skipped Option		
16	3	CMET54	54"h, End of Run Trim Insert for Panel	\$ 25.00	\$75.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
17	4	CMFM5424N0	54"h x 24 Cover No	"w, Monolithic Fabric Panel, Non-Powered, Race way Punch (2)	\$ 381.00	\$1,524.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
18	2	CMFM5436N0	54"h x 36 Cover No	"w, Monolithic Fabric Panel, Non-Powered, Race way Punch (2)	\$ 480.00	\$960.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
19	2	CMFM5436P2		"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 696.00	\$1,392.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
20	7	CMRCB01	Cutout Co	over for Raceway Cutout Opening	\$ 17.00	\$119.00



	0T)(LIST	EXTENDED
IIEM	QTY.	PRODUCT CODE	Skipped Option		EATENDED
			Skipped Option		
21	2	CSSL1336	13"d x 36"w, Low Profile Shelf	\$ 163.00	\$326.00
			Skipped Option		
			Skipped Option		
22	2	CWS2436P	36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$334.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
23	2	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$734.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
EFG					
24	2	EVCUSHION15X19X1	15"w x 19"d x 1"h, Pedestal Seat Cushion, Cushions are for use on EVS12xxBFLCM Mobile Pedestals Only	\$ 205.00	\$410.00
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
25	2	EVS1219BFLCM	19"d x 24.125"h, B/F w/ 60 mm castors, Mobile	\$ 871.00	\$1,742.00
			Skipped Option		
			Skipped Option		
26	1	EVS12TSO542FL	54"h x 24"d, 4H, Side Storage Tower, FF, Left, 1200 Series	\$ 3,531.0	0 \$3,531.00
			Skipped Option		
			Skipped Option		
27	1	EVS12TSO542FR	54"h x 24"d, 4H, Side Storage Tower, FF, Right, 1200 Series	\$ 3,531.0	0 \$3,531.00
			Skipped Option		
			Skipped Option		





ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM513 4-Pack		
CPL 28	3	CE8CP17	17" Mesh Jumper	\$ 120.00	\$360.00
29	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
30	2	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$66.00
31	2	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$66.00
32	2	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$66.00
33	2	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$66.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
34	6	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$300.00
35	6	CHC15R	STDStandard Paint FinishesSkipped OptionSkipped Option15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$300.00
36	2	CHC22L	STD Standard Paint Finishes Skipped Option Skipped Option 22" Left Cantilever, Mounting Bracket Included	\$ 77.00	\$154.00
37	2	CHC22R	STDStandard Paint FinishesSkipped OptionSkipped Option22" Right Cantilever, Mounting Bracket Included	\$ 77.00	\$154.00
38	4	СНСВ2	STDStandard Paint FinishesSkipped OptionSkipped OptionCorner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$88.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
39	4	CHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$84.00
			Skipped Option		
40	1	CHMEG24L	28"h x 23"d, Metal End Gable, Left, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 285.00	\$285.00
41	1	CHMEG24R	STDStandard Paint FinishesSkipped OptionSkipped Option28"h x 23"d, Metal End Gable, Right, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 285.00	\$285.00
42	1	СНР54-3	STDStandard Paint FinishesSkipped OptionSkipped Option54"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 126.00	\$126.00
43	1	СНР54-4	STDStandard Paint FinishesSkipped OptionSkipped Option54"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 106.00	\$106.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
44	5	CMET54	54"h, End	l of Run Trim Insert for Panel	\$ 25.00	\$125.00
			STD	Standard Paint Finishes Skipped Option		
				Skipped Option		
45	8	CMFM5424N0	54"h x 24 Cover No	"w, Monolithic Fabric Panel, Non-Powered, Race w Punch (2)	^{ay} \$ 381.00	\$3,048.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
46	4	CMFM5436N0	54"h x 36 Cover No	"w, Monolithic Fabric Panel, Non-Powered, Race w Punch (2)	^{ay} \$ 480.00	\$1,920.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
47	4	CMFM5436P2	54"h x 36 Raceway	"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 696.00	\$2,784.00
			STD	Standard Paint Colors		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
			Skipped Option		
48	15	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$255.00
			Skipped Option		
			Skipped Option		
49	4	CSSL1336	13"d x 36"w, Low Profile Shelf	\$ 163.00	\$652.00
			Skipped Option		
			Skipped Option		
50	4	CWS2436P	36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$668.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option Skipped Option		
51	4	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$1,468.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
EFG 52	4	EVCUSHION15X19X1	15"w x 19"d x 1"h, Pedestal Seat Cushion, Cushions are for use on EVS12xxBFLCM Mobile Pedestals Only	\$ 205.00	\$820.00
53	4	EVS1219BFLCM	Skipped Option Skipped Option 19"d x 24.125"h, B/F w/ 60 mm castors, Mobile	\$ 871.00	\$3,484.00
54	2	EVS12TSO542FL	Skipped Option Skipped Option 54"h x 24"d, 4H, Side Storage Tower, FF, Left, 1200 Series	\$ 3,531.0	0 \$7,062.00
55	2	EVS12TSO542FR	Skipped Option Skipped Option 54"h x 24"d, 4H, Side Storage Tower, FF, Right, 1200 Series	\$ 3,531.0	0 \$7,062.00
			Skipped Option Skipped Option		

ALIAS SUBTOTAL: \$ 32,201.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM513 6-Pack		
CPL 56	5	CE8CP17	17" Mesh Jumper	\$ 120.00	\$600.00
57	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
58	3	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$99.00
59	3	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$99.00
60	3	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$99.00
61	3	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$99.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
62	9	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$450.00
63	9	CHC15R	STDStandard Paint FinishesSkipped OptionSkipped Option15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$450.00
64	3	CHC22L	STD Standard Paint Finishes Skipped Option Skipped Option 22" Left Cantilever, Mounting Bracket Included	\$ 77.00	\$231.00
65	3	CHC22R	STD Standard Paint Finishes Skipped Option Skipped Option 22" Right Cantilever, Mounting Bracket Included	\$ 77.00	\$231.00
66	7	CHCB2	STDStandard Paint FinishesSkipped OptionSkipped OptionCorner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$154.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
67	6	CHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$126.00
			Skipped Option		
68	1	CHMEG24L	28"h x 23"d, Metal End Gable, Left, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 285.00	\$285.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
69	1	CHMEG24R	28"h x 23"d, Metal End Gable, Right, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 285.00	\$285.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
70	1	CHP54-3	54"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 126.00	\$126.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
71	2	CHP54-4	54"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 106.00	\$212.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
72	7	CMET54	54"h, End	l of Run Trim Insert for Panel	\$ 25.00	\$175.00
			STD	Standard Paint Finishes Skipped Option		
				Skipped Option		
73	12	CMFM5424N0	54"h x 24 Cover No	"w, Monolithic Fabric Panel, Non-Powered, Race w Punch (2)	^{ay} \$ 381.00	\$4,572.00
			STD	Standard Paint Colors Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
74	6	CMFM5436N0	54"h x 36 Cover No	"w, Monolithic Fabric Panel, Non-Powered, Race w Punch (2)	^{ay} \$ 480.00	\$2,880.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
75	6	CMFM5436P2		"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 696.00	\$4,176.00
			STD	Standard Paint Colors		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
			Skipped Option		
76	23	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$391.00
			Skipped Option		
			Skipped Option		
77	6	CSSL1336	13"d x 36"w, Low Profile Shelf	\$ 163.00	\$978.00
			Skipped Option		
			Skipped Option		
78	6	CWS2436P	36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$1,002.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
79	6	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$2,202.00
			LP Thermally Fused Laminates 1" Thickness		
			LP Thermally Fused Laminates 1" Thickness Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
EFG 80	6	EVCUSHION15X19X1	15"w x 19"d x 1"h, Pedestal Seat Cushion, Cushions are for use on EVS12xxBFLCM Mobile Pedestals Only	\$ 205.00	\$1,230.00
81	6	EVS1219BFLCM	 Skipped Option Skipped Option 19"d x 24.125"h, B/F w/ 60 mm castors, Mobile 	\$ 871.00	\$5,226.00
82	3	EVS12TSO542FL	Skipped Option Skipped Option Skipped Option 54"h x 24"d, 4H, Side Storage Tower, FF, Left, 1200 Series	\$ 3,531.(00 \$10,593.00
83	3	EVS12TSO542FR	 Skipped Option Skipped Option 54"h x 24"d, 4H, Side Storage Tower, FF, Right, 1200 Series 	\$ 3,531.(00 \$10,593.00
			Skipped Option Skipped Option		

ALIAS SUBTOTAL: \$47,911.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM513 8-Pack		
CPL <i>84</i>	7	CE8CP17	17" Mesh Jumper	\$ 120.00	\$840.00
85	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
86	4	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$132.00
87	4	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$132.00
88	4	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$132.00
89	4	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$132.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
90	12	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$600.00
91	12	CHC15R	STDStandard Paint FinishesSkipped OptionSkipped Option15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$600.00
92	4	CHC22L	STD Standard Paint Finishes Skipped Option Skipped Option 22" Left Cantilever, Mounting Bracket Included	\$ 77.00	\$308.00
93	4	CHC22R	STD Standard Paint Finishes Skipped Option Skipped Option 22" Right Cantilever, Mounting Bracket Included	\$ 77.00	\$308.00
94	10	СНСВ2	STDStandard Paint FinishesSkipped OptionSkipped OptionCorner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$220.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
95	8	CHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$168.00
			Skipped Option		
96	1	CHMEG24L	28"h x 23"d, Metal End Gable, Left, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 285.00	\$285.00
			STD Standard Paint Finishes Skipped Option Skipped Option		
97	1	CHMEG24R	28"h x 23"d, Metal End Gable, Right, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 285.00	\$285.00
			STDStandard Paint FinishesSkipped OptionSkipped Option		
98	1	CHP54-3	54"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 126.00	\$126.00
			STDStandard Paint FinishesSkipped OptionSkipped Option		
99	3	CHP54-4	54"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 106.00	\$318.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
100	9	CMET54	54"h, End	l of Run Trim Insert for Panel	\$ 25.00	\$225.00
			STD	Standard Paint Finishes Skipped Option		
				Skipped Option		
101	16	CMFM5424N0	54"h x 24 Cover No	"w, Monolithic Fabric Panel, Non-Powered, Race wa Punch (2)	^y \$ 381.00	\$6,096.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option Skipped Option		
102	8	CMFM5436N0	54"h x 36	"w, Monolithic Fabric Panel, Non-Powered, Race wa Punch (2)	y \$ 480.00	\$3,840.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
103	8	CMFM5436P2	54"h x 36 Raceway	"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 696.00	\$5,568.00
			STD	Standard Paint Colors		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
			Skipped Option		
104	31	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$527.00
			Skipped Option Skipped Option		
105	8	CSSL1336	13"d x 36"w, Low Profile Shelf	\$ 163.00	\$1,304.00
106	8	CWS2436P	Skipped Option Skipped Option Skipped Option 36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$1,336.00
107	8	CWS2472P	LPThermally Fused Laminates 1" ThicknessSkipped OptionSkipped OptionSkipped OptionSkipped OptionSkipped OptionT2"w x 24"d, Rectangular Worksurface with 3mm PVC EdgeTrim 1" Thick, Std with 2 Scoops	\$ 367.00	\$2,936.00
			LP Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option Skipped Option Skipped Option		



			TOTAL EXTENDED LIST:	\$160,224.00
			ALIAS SUBTOTAL: \$ 63,621.00	
			Skipped Option Skipped Option	
111	4	EVS12TSO542FR	54"h x 24"d, 4H, Side Storage Tower, FF, Right, 1200 Series	\$ 3,531.00 \$14,124.00
			Skipped Option Skipped Option	
110	4	EVS12TSO542FL	54"h x 24"d, 4H, Side Storage Tower, FF, Left, 1200 Series	\$ 3,531.00 \$14,124.00
			Skipped Option Skipped Option	
109	8	EVS1219BFLCM	19"d x 24.125"h, B/F w/ 60 mm castors, Mobile	\$ 871.00 \$6,968.00
			Skipped Option Skipped Option	
108	8	EVCUSHION15X19X1	15"w x 19"d x 1"h, Pedestal Seat Cushion, Cushions are for use on EVS12xxBFLCM Mobile Pedestals Only	\$ 205.00 \$1,640.00
EFG				